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Class – VI     SAT (Bengali Version) 

 

1."N¡−Rl am¡u j¡cm h¡S−R 'z HM¡−e ¢œ²u¡l −L¡e L¡m¢V hÉhq©a q−u−R ? 

       (a) haÑj¡e (b) Aa£a (c) i¢hoÉv (d) iä 

2.  "N−hr' n−ël p¢å ¢h−µRc −L¡e¢V ? 

       (a) Nh + Ar (b) Nh¡  Ar (c)  −N¡ + Ar (d) ph…¢m i¥m 

3. ¢ejÀ¢m¢Ma në …¢ml j−dÉ LeÚ¢V hýhQe ? 

     (a) a¡q¡−L(b)  −a¡j¡l¡  (c)  −a¡j¡l(d) a¥¢j 

4. AöÜ h¡e¡e ¢V ¢ehÑ¡Qe Ll : 

     (a) f§S¡   (b) j§mÉ (c) c§NÑ (d) j§MÑ 

5. −L¡e¢V −k±¢NL nëx  (a)  −lnj(b)  −c±¢qœ (c)  °am (d) jq¡k¡œ¡ 

6) Which one is abstract noun? 

     (a) Cow   (b) School   (c) Love  (d) Ganga 

7) I ______ at 6a.m every day. 

     (a) Got up  (b) Have get up  (c) Get up  (d) Getting up  

8) There is ________ orange on the table. 

      (a) a  (b) an  (c) the  (d) two 

9) There is a white cat ________ the table. 

      (a) inside   (b) under   (c) over   (d) to 

10) Which word is antonym of ‘beautiful’? 

       (a) warm   (b) ugly   (c) pain  (d) near 

11) I eat rice . 

       Which of the following sentence will be its past form? 

      (a) I have eaten rice     (b) I have been eating rice     (c) I ate rice   (d) I was eating rice 

12) Ram ______  Rahim are going to school 

      (a) But   (b) Or  (c) again (d) and 

13) Select the plural form of the the given singular noun  

      (a) Gooses  (b) Geeses  (c) Geese  (d) none of these 
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14) Use the correct ‘be’ verb form the options below: 

       Yesterday it ______ very cloudly 

      (a) is    (b) was   (c) are  (d) were   

15) Fill in the blanks with correct preposition: 

I am worried _______ the exam 

      (a) in    (b) about   (c) are   (d) were 

16) Fill in the blank with correct abverb: 

During autumn colourful leaves can be seen falling _______ form trees 

     (a) very   (b) about   (c) on   (d) of 

17) Synonym for ‘Happy’? 

     (a) cheerful  (b) conteneted  (c) delighted  (d) ecstatic 

18) Select the suitable prefix for the given word _______ usually. 

     (a) Un   (b) Im   (c) In   (d) dis 

19) Find the adverb in the following sentence. 

“Elina has worked very hard for the exam” 

       (a) has   (b) very    (c) hard   (d) exams 

20) Find the positioning in the following sentence. 

“Farhad is expecting the parcel before the end of the day” 

       (a) expecting   (b) parcel  (c) before   (d) end 

21) Are you afraid _____ exams 

      (a) at  (b) from   (c) on  (d) of 

22) My friend and I always go to school ______ the bus. 

      (a) by   (b) on  (c) in  (d) at 

23) Fill in the blank with the most appropriate collective noun. 

A ______ of wolves running after a ______ of geese. 

     (a) bunch, basket  (b) pack, gaggle  (c) pride, gaggle (d) colony, flock 
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24) Fill in the blank with the most appropriate conjunction. 

       He was warned _________ he dived into the sea. 

     (a) So   (b) but   (c) if   (d) then 

25) Find out the correct spelling. 

    (a) Environment  (b) Enveronment  (c) Enveroment  (d) Enviroment 

26.      
��

�
	iNÀ¡wn¢V −k c¤¢V fZÑpwMÉ¡l j−dÉ AhÙÛ¡e Ll−R −p c¤¢V qm 

       (a)  4 J 5  (b) 2 J 3  (c) 4 J 3  (d) 7 J 25 

27. ¢e−Ql LeÚ¢V ph−b−L hs ? 

      (a) XCI – VI  (b) LXXI + XI   (c) CX – XXXX  (d)  XC - XIII 

28. HL¢V p¤¤oj osi¥−Sl fË¢a¢V h¡ý−L 10 −p¢jz L−l hª¢Ü Ll−m f¢lp£j¡ hª¢Ü f¡−h - 

        (a)  10 cm. (b)  50 cm. (c) 60 cm.  (d)  80 cm. 

29. 5720429 pwMÉ¡¢Vl c¤¢V 2  Hl ÙÛ¡e£uj¡−el i¡Ngm - 

          (a)   10   (b) 100   (c)  1000   (d) 1 

30.     20 x
�

�
 + 20÷

�

�
 

      (a)  48  (b)  24  (c)   84   (d) 85 

31.  HL¢V −h¡a−m 1.250  ¢mV¡l Sm B−Rz HL¢V NÔ¡−p 250 ¢j¢m Sm d−lz L¢V NÔ¡−p 

Sm il¡ k¡−h ? 

      (a)  2   (b)  3    (c)  4   (d) 5 

32.  ¢ae¢V pj−lM ¢h¾c¢c−u Lu¢V ¢œiS̈ Aˆe Ll¡ k¡−h ? 

(a) 1 ¢V (b) 3 ¢V (c)  5¢V  (d)  HL¢VJ e¡ 

33.  −L¡eÚ¢V fËhªÜ −L¡e?   

    (a)  900     (b)  1800  (c)  2700    (d)  3600 
34.  24,36, J  40 Hl m.p¡.…. La ? 

        (a) 120     (b)  240      (c)  360  (d) 480 

35.    84, 96, 120 Hl N.p¡.…. La ? 

       (a)  16    (b)  3    (c)  4    (d) 12 
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36. h£SN¢Z¢aL pwMÉ¡j¡m¡…¢m−L i¡N L−l i¡N gm ¢eZÑuL Llz 

      70a4 b3 c5÷ a2b2c2 

     (a) 70a2bc2      
(b)  7ab3c3     

(c)  7a2 bc3     (d)  7ab2 c2 

37. e£−Ql −L¡eÚ¢V pj¡e¤f¡−a −eC ? 

        (a) 15, 45 :: 40,120  (b) 32,48 :: 70,210 (c)  16,24 :: 20,30 (d) 21,6 :: 35,10 

38.  −a¡j¡l LÓ¡−p  70 Se R¡œ B−Rz hª¢øl SeÉ LÓ−p j¡œ 14 Se Ef¢ÙÛaz naLl¡  

    La Se Ae¤f¢ÙÛa ? 

         (a)  80%     (b) 70%   (c)  60%     (d) 50% 

 

39.  ¢ae¢V pj−lM¡ ¢h¾c¥ ¢c−u L¢V plm−lM¡ AˆeLl¡ k¡−h ? 

         (a)   1¢V (b)   2 ¢V  (c)  3 ¢V  (d)  −L¡e¢VCeu 

40.   ( -13) + (+7) + (-2) = ? 

 

      (a)  8      (b)  -8    (c)  7       (d)  -7 

 

41.  °Shi‰¥l hSÑÉfc¡wbÑ −L¡eÚ¢V ? 

       (a) L¡N−Sl L¡f  (b) fÔ¡¢ØV−Ll L¡f (c) L¡−Ql −h¡am (d) a¡j¡l f¡œ 

42. L¡−cl g¥pg¥−p h¡ýb¢m  b¡−L? 

        (a) f¡¢M  (b) j¡R  (c) j¡e¤o  (d)  hÉ¡P 

43.  −L¡eÚ¢V a¢s−al p¤¤f¢lh¡q£ fc¡bÑ 

        (a)  L¡W  (b)  NË¡g¡CV  (c)  ¢höÜ Sm (d) lh¡l 

44.  −m¡q¡l BL¢lL −L¡eÚ¢V ? 

     (a)  −qj¡V¡CV  (b) h„¡CV  (c) Lf¡l NÔ¡¾p  (d) LÉ¡m¡j¡Ce 

45.  −a¡j¡l j¡ −k NÉ¡−pl¡æ¡ L−leI ¢p¢mä−lalm −fË¡−feb¡−Lz −fË¡−fe ¢L−pl 
      −b−Lf¡Ju¡ k¡u - 

      (a)  −fË−–¡¢mu¡j  (b) Lum¡ (c)  −p¡e¡ (d) Sm −b−L 

46.  HL¢V plm k¿» qm - 

       (a)Lmj (b) R¡f¡l k¿» (c)  ¢XÊm k¿» (d)  −pm¡C k¿» 
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47.  "nL¡ë' Hl fËQmeL−le - 

     (a)  fËbj Q¾cÊ…ç (b) pj¤â…ç (c) qoÑhdÑe  (d) L¢eú 

48.  "i£j −hVL¡' ------------------- Hl SeÉf¢l¢Qa z 

      (a)   f¡−b−ll AÙ» (b)  …q¡¢Qœ (c)  ¢nm¡¢m¢f (d)S£h¡nÈ 

49.  "f¡nÄÑe¡b' ¢R−me °Se−cl ...................................... a£bÑˆlz 

     (a)   fËbj  (b) h¡Cnaj  (c)  −aCnaj   (d)  Q¢înaj 

50.  HC hR−l (2024) −j' j¡−p  h−‰¡fp¡N−l Evfæ qJu¡ n¢š²n¡m£ O§¢Z ÑT−sle¡j 

     (a) g¢Z (b)  Cu¡p  (c)  h¤mh¤m (d)  −lj¡m 

 

MAT 

 

51. nË£mˆ¡l j¤â¡qm - 

     (a) l¦¢f (b)  ¢lu¡m (c)  ¢ce¡l (d)   V¡L¡ 

52. 'MERIDIAN' n−ël Ab Ñqm - 

      (a)  ¢ce (b) l¡a  (c)  −N¡d§¢m (d)  jdÉ¡q² 

53. ' EARTH DAY'  −L¡eÚ ¢ce f¡¢ma qu? 

      (a)  22−n S¡e¤u¡l£ (b)  22−nj¡QÑ(c)  22−n X¢fËm(d)  22−n ¢X−pðl 

54. i¡l−al g¥Vh−ml SeL q−me - 

      (a) e−N¾cÊ fËp¡c phÑ¢dL¡l£  (b)  ¢mJ−em −j¢p  (c)  −eCj¡l  (d)  −f−m 

 55.  −p¡e¤ l¡S¥li¡Cz −lM¡ Aa¥−ml −h¡ezl¡S¥ −lM¡l −R−mz −p¡e¤ −lM¡l −L qu ? 

       (a)i¡C   (b)  −R−m  (c) i¡−NÀ   (d)  h¡h¡ 

 

56.  e£−Ql  (x) ¢Qœ¢V −L¡e ¢Q−œlj−dÉl−u−R ?   

  

  

 
(d) None of these 
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57. A¢jm¢V  My¥−S −hl Ll z 

 
58. e£−Ql −mM¡¢Vl cfÑ−Z fË¢ahð ¢Ll©fq−h ? 

 BR4AQ16HI 

 

59. n§eÉÙÛ¡−e p¢WL pwMÉ¡ ¢V −mM 

        1¢V B−fm + 1¢V B−fm + 1¢V B−fm = 120 

 1¢V B−fm + 2¢V Lm¡ + 2¢V L¡m¡ = 100 

 3¢V Lm¡ + 1¢V Ljm¡−mh¤ + 1¢V B−fm = 105 

 1¢V Lm¡ + 1¢V Ljm¡−mh¤ = ...................................? 

      (a)     25 (b)     55 (c)   60 (d)   35 

 

60. pªkÑ x KSÆmÉ xx R¥¢l 

      (a)  hÔX (b)  d¡l¡−m¡ (c)  L¡V¡ (d)   ØV£m 

61.  6 : 18 :: 8 : .....................? 

(a)     20 (b)     23  (c)   24 (d)   28 
62. k¢c "LESD" −mM¡ qu " @$&#' NAC −mM¡ qu "%?*' a¡q−m "CANDLE'  

mM¡ q−h ¢Li¡−h ? 

     (a)     * ? % # @ $ & (b)   * ?%  @ $ &#  (c)  * ? %  @# $ & (d) &$@#% 

63.  HL¢V fË¢a−k¡¢Na¡u 43 Se fË−k¡N£ Awn NËqZ L−l−R zB¢caÉ hmm, "B¢j −n−ol 

¢cL −b−L 19 ajÙÛ¡−e ¢Rm¡j'za¡q−m fËbj ¢c−Ll −b−La¡l AhÙÛ¡e La ¢Rm ? 

      (a) 25   (b)  24    (c)  23   (d)  26 

 



7 

 

64. e£−Ql ¢Q−œ La…¢m Qa¥iÑS̈ B−R hmz 

      (a)  5   (b)  7    (c)  9   (d)  10 

 

65. k¢cBAT = EDW qu, a−h RED = ? 

     (a) TGF  (b)  VIM   (c)  UHG  (d)  UGH 

66. Writer : Pen  a−h Painter :? 

     (a) Paint   (b)  Painting    (c)  Scenery   (d)  Brush 

67. fl£ hmm, "" A¢ˆ−al h¡h¡ p¤¤¢jaz p¤¤¢j−alh¡h¡ Bj¡lh¡h¡z'' a−h A¢ˆa fl£l −L 

qu 

       (a) i¡−NÀ  (b)  i¡C   (c)  −R−m   (d)  ü¡j£ 

68.  −Qu¡l : L¡W :: ? 

     (a) hC : fËL¡ne£   (b)  Bue¡ : Ly¡Q   (c) −fÔV : M¡cÉ   (d)hÉ¡N : V¡L¡ 

69.  HL¢V O¢s−a 4:30 h¡S−mk¢c ¢j¢e−Vl Ly¡V¡ f§hÑ ¢c−L b¡−L a−h O¾V¡l Ly¡V¡  

    −k ¢c−L b¡L−h -  

       (a)  c¢rZ - f§hÑ   (b)  Ešl- f§hÑ    (c)  Ešl  (d)  Ešl - f¢ÕQj 

70.  naL J HL−Ll O−ll Aˆc¤¢Vl j−dÉ ÙÛ¡e f¢lhaÑe Ll−m ¢e−Ql −L¡e pwMÉ¡¢V 

ph−Q−u  

    hs q−h ? 

      (a) 489   (b)  991    (c)  679   (d)  299 

71. Bla£ üfÀ¡l −b−Lhs ¢L¿¹¥ ¢ja¡l −b−L −R¡VzL¡Lm£ ¢ja¡l −b−Lhszph−b−L −R¡V 

−L -  

       (a) üfÀ¡  (b)  ¢ja¡   (c)  L¡Lm£   (d)  Bla£ 

 

72. 

 

 

 

           (a) 3   (b)  4    (c)  5   (d)  6 
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73.   AC,  EG,  IK,  MO ? 

 

            (a)    PR   (b)  QS    (c)  QR  (d)  PS 

 

74.  

 

 

 

 

 

75.  HL¢V ¢e−lV −Q¡−Pl am pwMÉ¡ -  

        (a)  1   (b)  2   (c)  3   (d)  4 

76.  HL¢V hNÑ−r−œl h¡ýl °cOÑÉ 10% hª¢Ü Ll−m f¢lp£j¡ hªÜ f¡−h - 

        (a) 11%  (b)  40%    (c)  20%  (d)  10% 

77.  ¢ejÀ¢mMa −L¡e pj−u O¢sl L¡V¡ c¤¢V c¤C pj−L¡−Z −b−L 

         (a)   2 V¡ 35 ¢j¢e−V  (b)  4V¡ 40¢j¢e−V   (c)  8V¡ 11 ¢j¢e−V (d)  9V¡ 20¢j¢e−V 

 

78.  

 

 

 

 

                          (a)  9   (b)  15   (c)  27   (d)  81 

79.  X¡š²¡l = −l¡N£ q−m, "E¢Lm' =         ? 

     (a)  −œ²a¡  (b)  Afl¡d£   (c)  ¢hQ¡lL  (d)  j−‚m 

80. Q¡l¡NR : h£S ::  ?  : Ly¥¢s 

   (a) f¡a¡  (b) fõh    (c)  g¥m (d)  gm 

81. 572.3694 pwMÉ¡¢V−L c¤Ccn¢jL ÙÛ¡e fkÑ¿¹ Bpæj¡e ¢eZÑu Ll−m q−h - 
     (a) 572.36  (b)  572.37   (c)  573.37  (d)  573.36 

 

82. O¢s−a 3V¡ h¡S−m O¾V¡l Ly¡V¡ J ¢j¢e−Vl Ly¡V¡l jdÉhaÑ£ −L¡Z - 

    (a) 450 (b)  1800    (c)  700 (d)  900 
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83. p¢WL œ²−j p¡S¡J - 

     (a) l¡SÉ (b) −Sm¡  (c) hÔL (d) jqL¥j¡ (c)  f’¡−ua 

      (i)  d,e,a,b,c  (ii)  e,c,d,b,a    (iii) b,a,c,d,e  (iv)  a,b,c,d,e 

84.             √8� 
 15� 		
 �		q−m, x = ? 

       (a)  17  (b)   16   (c)  18  (d)  19 

 

 

85.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                       (a)           (b)         (c)        (d) 

 

86. n§eÉÙÛ¡−e p¢WL pwMÉ¡¢V hp¡Jz 

    1, 1, 2, 6, 24, 120 ............ ? 

    (a)   520  (b)  620   (c)  720 (d)  820 

87.  −L¡e¢V i¥m ? 

 

 

88. A¢jm¢V My¥−S −hl L−l −mMz 

 

 

 

          (a)           (b)           (c)             (d)     

89. e£−Ql −nË¢Z¢V f§lZ Ll : 

      1, 4, 2, 5, 3, 6,  ........, ....... 

    (a)   4,7   (b)  5,6    (c)  6,7  (d)  3,4 

90. p¢WL ¢Qq² h¡p¡J : 

             353                     535 

     (a)  >  (b)   <   (c)    =   (d)   −L¡e¢Veu 
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91. c¤C naL HL cnL fy¡Q HLL =  .............. ? 

     (a) 125  (b)  215   (c)  251  (d)  255 

92. f¡−nl h−„ La…¢m "4' B−R ? 

      (a)  2   (b)  3    (c)   4   (d)  5 

93. e£−QLu¢V ¢h−S¡spwMÉ¡ B−R ? 

          2, 5, 6, 7, 9, 10, 12, 13 
      (a) 2  (b)  3    (c)  4  (d ) 5 

94.  HL XSe ¢Xj −b−L fy¡Q¢V ¢Xj l¡æ¡ Ll¡ q−m L¢V h¡L£ b¡−L ? 

(a) 4   (b)  5   (c)  6  (d)  7 

 

95.  373 =           naL           cnL            HLL 

       (a)  3 , 7, 3  (b)  7,  3, 7   (c)  3,  7,  1  (d)  7,  3,  3 

96.    40 x 12 =  

  (a)  400   (b)  420    (c)   480   (d)  460 

 

97. f¡−nl ¢Q−œ Lu¢V hNÑ−rœ B−R ?       

       (a) 1  (b)  2   (c) 3   (d)  4 

 

 

 

  

98.   

 

      (a)  35  (b)  1    (c)  99  (d)  5 

 

99. nËZ£¢V f§lZLl ,  B,E,H,K, N,............? 

       (a)  P  (b)  O   (c)  Q (d)  R 

100. k¢c Ru¢V −f−el c¡j 3 42 V¡L¡ qu a−h 11¢V −f−el c¡j La ? 

      (a)   262  (b)  627    (c)  672  (d)  276 

 

 
 

1    2    4    6 

8    4    9     4 

2    4    1      4 



1."N¡−Rl am¡u j¡cm h¡S−R'zHM¡−e ¢œ²u¡l −L¡e L¡m¢V hÉhq©a q−u−R ? 

(a) haÑj¡e(b) Aa£a (c) i¢hoÉv(d)iä 

2.  "N−hr' n−ël p¢å ¢h−µRc −L¡e¢V ? 

(a) Nh + Ar(b) Nh¡  Ar(c)  −N¡ + Ar(d)ph…¢m i¥m 

3. ¢ejÀ¢m¢Ma në…¢ml j−dÉ LeÚ¢V hýhQe ? 

(a) a¡q¡−L(b)  −a¡j¡l¡  (c)  −a¡j¡l(d) a¥¢j 

4. AöÜ h¡e¡e¢V ¢ehÑ¡Qe Ll : 

(a) f§S¡   (b) j§mÉ (c) c§NÑ (d) j§MÑ 

5. −L¡e¢V −k±¢NL nëx (a)  −lnj(b)  −c±¢qœ(c)  °am (d)jq¡k¡œ¡ 

6) Which one is abstract noun? 

(i) cow   (ii) school   (iii) love  (iv) Ganga 

7) I ______ at 6a.m every day. 

(i) Got up  (ii) Have get up  (iii) Get up  (iv) Getting up  

8) There is ________ orange on the table. 

(i) a  (ii) an  (iii) the  (iv) two 

9) There is a white cat ________ the table. 

(i) inside   (ii) under   (iii) over   (iv) to 

10) Which word is antonym of ‘beautiful’ ? 

(i) warm   (ii) ugly   (iii) pain  (iv) near 

11) I eat rice . 

       Which of the following sentence will be its past form? 

(i) I have eaten rice     (ii) I have been eating rice     (iii) I ate rice   (iv) I was eating rice 

12) Ram ______  Rahim are going to school 

(i) But   (ii) Or  (iii) again (iv) and 

Class –VI , SAT (English version) 



13) Select the plural form of the the given singular noun  

(i) Gooses  (ii) Geeses  (iii) Geese (iv) none of these 

14) Use the correct ‘be’ verb form the options below: 

       Yesterday it ______ very cloudly 

(i) is    (ii) was   (iii) are  (iv) were   

15) Fill in the blanks with correct preposition: 

I am worried _______ the exam 

(i) in    (ii) about   (iii) are   (iv) were 

16) Fill in the blank with correct abverb: 

During autumn colorful leaves can be seen falling _______ form trees 

(i) very   (ii) about   (iii) on   (iv) of 

17) Synonyms for ‘Happy’? 

(i) cheerful  (ii) conteneted  (iii) delighted  (iv) ecstatic 

18) Select the suitable prefix for the given word _______ _______________usually. 

(i) Un   (ii) Im   (iii) In   (iv) dis 

19) Find the adverb in the following sentence. 

“Elina has worked very hard for the exam” 

(i) has   (ii) very    (iii) hard   (iv) exams 

20) Find the positioning in the following sentence. 

“Farhad is expecting the parcel before the end of the day” 

(i) expecting   (ii) parcel  (iii) before   (iv) end 

21) Are you afraid ______________________________exams 

(i) at  (ii) from   (iii) on  (iv) of 

22) My friend and I always go to school ______ _______________the bus. 

(i) by   (ii) on  (iii) in  (iv) at 



23) Fill in the blank with the most appropriate collective noun. 

A ______ of wolves running after a ______ of geese. 

(i) bunch, basket  (ii) pack, gaggle  (iii) pride, gaggle (iv) colony, flock 

24) Fill in the blank with the most appropriate conjuction. 

       He was warned _________ _________________________he dived into the sea. 

(i) So   (ii) but   (iii) if   (iv) then 

25) Find out the correct spelling. 

(i) Environment  (ii) Enveronment  (iii) Enveroment  (iv) Enviroment 

26) The fraction 
��

�
	 is in between the two whole numbers are- 

(i) 4,5  (ii) 2,3  (iii) 4,3  (iv) 7,25 

27) Which one is the largest? 

(i) XCI-VI   (ii) LXXI+XI   (iii) CX-XXXX  (iv) XC-XIII 

28) If each side of a regular hexagon is increased by 10cm then its perimeter will increase- 

(i) 10cm  (ii) 50cm  (iii) 60cm   (ix) 80cm 

29) The total place value of 2 of the number 5720429 is- 

(i) 10    (ii) 100   (iii) 1000  (iv) 1 

30)    20 x
�

�
 + 20÷

�

�
= ? 

(i) 48    (ii) 24     (iii) 84   (iv) 85 

31) A bottol contain 1.250 liter water.A glass contains 250ml water. How many glasses can be 

filled by that amount of water? 

(i) 2   (ii) 3  (iii) 4   (iv) 5 

32) How many triangles can be drawn by three parallel points ? 

(i) 1    (ii) 3    (iii) 5    (iv) none of these 

33) Which one is the prominent angle ? 



(i) 900   (ii) 1800   (iii) 2700   (iv) 3600 

34) Least common multiple of 24,36 and 40 is- 

(i) 120    (ii) 240   (iii) 360   (iv) 480 

35) Highest common factor of 84,96 and 120 

(i) 16   (ii) 3   (iii) 4  (iv) 12 

36) The quotient of the following algebraic chain is(70a4b3c5/a2b2c2) 

(i) (70a2bc2/a2b c2)   (ii) 7ab3c3   (iii) 7a2bc3  (iv) 7ab2c2 

37) Which one of the following is not in proportion? 

(i) 15,45::40,120     (ii) 32,48::70,120     (iii) 16,24::20,30  (iv) 21,6::35,10 

38) There are 70 students in your class. 14 students are absent due to rainy weather. Calculate the 

percentage of the absent students. 

(i) 80%    (ii) 70%   (iii) 60% (iv) 50% 

39) How many straight line can be drawn by three parallent point? 

(i) 1     (ii) 2     (iii) 3    (iv) none of these 

40.  ( -13) + (+7) + (-2) = ? 

(a)  8(b)  -8 (c)  7(d)  -7 

41) Which one is biodegradable? 

(a) paper cup    (b) plastic bag   (c) paper bottle   (d) copper pot 

42) Which one has air bag in their lungs 

(a) Bird   (b) Fish   (c) Man   (d) Frog 

43) Which one is good conductor for current? 

(a) Glass   (b) Graphite   (c) Pure water   (d) Rubber 

44) Which is the ore of iron? 

(a) Hematite    (b) Bauxite   (c) Copper glance   (d) Calamine 

45) Your mother cooks by using the gas made of liquid propane. Which is the source of 

the propane? 

(a) Petroleum    (b) Coal    (c) Gold     (d) Water 



46. HL¢V plm k¿» qm - 

     (a) Lmj (b) R¡f¡l k¿» (c)  ¢XÊm k¿» (d)  −pm¡C k¿» 

47.  "nL¡ë' Hl fËQme L−le - 

     (a) fËbj Q¾cÊ…ç (b) pj¤â…ç (c) qoÑhdÑe (d) L¢eú 

48.  "i£j −hVL¡' ------------------- Hl SeÉf¢l¢Qa z 

     (a) f¡b−ll AÙ» (b)  …q¡¢Qœ(c)  ¢nm¡¢m¢f (d) S£h¡nÈ 

49.  "f¡nÄÑe¡b' ¢R−me °Se−cl ...................................... a£bÑˆlz 

      (a)fËbj (b) h¡Cnaj (c)  −aCnaj (d) Q¢înaj 

50.  HC hR−l (2024) −j' j¡−p  h−‰¡fp¡N−l Evfæ qJu¡ n¢š²n¡m£ O§¢ZÑ T−sl e¡j 

     (a) g¢Z (b) Cu¡p (c) h¤mh¤m (d)  −lj¡m 

 

MAT 

51) The currency of Srilanka is -- 

(a) Rupee    (b) Rial (c) Dinar    (d) Rupees 

52) The meaning of “MERIDIAN” is – 

(a) Day    (b) Night   (c) Evening    (d) Noon 

53) Which day is EARTH DAY? 

(a) 22nd January     (b) 22nd March     (c) 22nd April       (d) 22nd December    

54) The father of Indian Football ------ 

(a) Nagendra Prasad Sarbadhikari  (b) Leonelmessi (c) Neymar   (d) Pele 

55) Sonu is the brother of Raju. Rekha is the sister of Atul and Raju is the son of Rekha. The 

relation between Sonu and  Rekha is ______ 

(a) Brother   (b) Son  (c) Nephew   (d) Father 

56) The image ‘x’ can be found in --- 



(d) Note any one 

57) Find out the different one – 

 

58) What is the mirror image of the following? 

BR4AQ16HI 

59) Fill in the blank with appropriate number 

1 apple+ 1 apple+ 1 apple=120; 1 apple+ 2 banana+ 2 banana=100; 3 banana+ 1 Orange+ 1 

apple =105 ;  3 banana+ 1 orange=  ___?_____ 

(i) 25   (ii) 55   (iii) 60 (iv) 35 

60) Sun : Brightness :: knife:___?_____ 

(a) Blade (b) Sharp cutting edge   (c) Cutting   (d) Steel 

61) 6: 18 :: 8 : .....................? 

(a) 20 (b)     23 (c)   24 (d)   28 
 

62) If ‘LESD’=@’$&#’ and NAC = ‘%?*’ Then CANDEL? 

(a)     * ? % # @ $ &(b)   * ?%  @ $ &#  (c)  * ? %  @# $ &(d)&$@#% 

63) HL¢V fË¢a−k¡¢Na¡u 43Se fË−k¡N£ AwnNËqZ L−l−Rz B¢caÉ hmm, "B¢j −n−ol 

 ¢cL −b−L 19 ajÙÛ¡−e ¢Rm¡j'za¡q−m fËbj ¢c−Ll −b−L a¡l AhÙÛ¡e La ¢Rm? 

(a) 25   (b)  24    (c)  23   (d)  26 

64) How many tetragonals are present in this picture? 

(a)  5   (b)  7    (c)  9   (d)  10 

 

  

  



65. If BAT = EDW, Then RED = ?  

(a) TGF  (b)  VIM   (c)  UHG  (d)  UGH 

66. Writer : Pen  then Painter : ? 

(a) Paint   (b) Painting    (c)  Scenery   (d)  Brush 

67) Pari said sumit is Aankit’s father and Sumit’s father is my father. What is the relation 

betweenAnkit and pari ? 

(a) Newphew  (b) Brother  (c) Son  (d) Husband 

68) Chair : Wood :: ? 

(a) Book : publisher   (b) Mirror : Glass   (c) Plate: Food      (d) Bag: Money 

69) At the time of 4:30 in the clock if the direction of the hand of minute remains towards east 

then the direction of the other hand of hour will be in the ______. 

(a) South-east    (b) North-east    (c) North    (d) North-west 

70) If the positions of two numbers in hundred and one are inter changed then the largest digit  

will be_______ 

(a) 489        (b) 991          (c) 679        (d) 299 

71) Arati is elder than sapna but younger than mita. Kakali is elder than Mita. Who is youngest? 

(a) Sapna    (b) Mita    (c) Kakali     (d) Arali 

 

72) 

 

 

 

(a) 3   (b)  4    (c)  5   (d)  6 

 

 

 



73) AC, EG, IK, MO ? 

 

(a) PR   (b)  QS    (c)  QR  (d)  PS 

 

74) 

 

 

 

75) Number of plain in a solid cylinder. 

(a) 1      (b) 2       (c) 3       (d) 4 

76) If the length of a square is increased by 10% circumference will be increased ----- 

(a) 11%      (b) 40%    (c) 20%    (iv) 10% 

 

78)  

 

 

 

 

79) Doctor= patient , Lawyer = ________ 

(a) Customer    (b) Criminal     (c) Judge      (d) Client 

80) Plant: Seed:: ? : Buds 

(a) Leaf     (b) New leaf     (c) Flower     (d) Fruit 

81) 572.3694 –Convert this into two decimal approximation value- 

(a) 572.36           (b)572.37       (c) 573.37      (d) 573.36 

82) What is the angle between two hands of a clock when the time is 8pm. 

(a) 450     (b) 1800    (c) 700    (d) 900 

                          (a)  9   (b)  15   (c)  27   (d)  81



 

83) Arrange In correct order --- 

(i) State  (ii) District  (iii) Block  (iv) Subdivision  (v) Panchayat 

(a)  iv,v,i,ii,iii      (b) v,iii,iv,ii,i      (c) ii,i,iii,iv,v      (d) i,ii,iii,iv,v 

84) .         √8� + 15� 		= �		q−m, x = ? 

          (a)  17  (b)   16   (c)  18  (d)  19 

 

85)  

 

 

 

                              (a)           (b)         (c)        (d) 

86) Fill in the blank ---- 

      1, 1, 2, 6, 24, 120 ............ ? 

    (a)   520  (b)  620   (c)  720 (d)  820 

87)  Which is incorrect? 

 

 

88) Findout the different one---- 

 

 

 

               (a)           (b)           (c)             (d)     

89) Fill the series---- 

      1, 4, 2, 5, 3, 6,  ........, ....... 

    (a)   4,7   (b)  5,6    (c)  6,7  (d)  3,4 



90) Use the correct symbol 

             353                      535 

     (a)  >  (b)   <   (c)    =   (d)   −L¡e¢Veu 

91)  c¤C naL HL cnL fy¡Q HLL =  .............. ? 

     (a) 125  (b)  215   (c)  251  (d)  255 

92)  How many ‘4’ in the box? 

      (a)  2   (b)  3    (c)   4   (d)  5 

 

93) How many odd numbers are there? 

          2, 5, 6, 7, 9, 10, 12, 13 
      (a) 2  (b)  3    (c)  4  (d ) 5 

94)  Five eggs are cooked from 1 dozen.  How many eggs will be there? 

      (a) 4   (b)  5   (c)  6  (d)  7 

 

95  )   373=                        Hundred                        tens                     ones 

       (a)  3 , 7, 3  (b)  7,  3, 7   (c)  3,  7,  1  (d)  7,  3,  3 
 

96) .    40 x 12 =  

        (a)  400   (b)  420    (c)   480   (d)  460 

 

97) How may squares are in the picture?  

       (a) 1  (b)  2   (c) 3   (d)  4 

 

98) 

(a)  35  (b)  1    (c)  99  (d)  5 

 

1    2    4    6 

8    4    9     4 

2    4    1      4 



99)   Fill the series-   B,E,H,K, N,............? 

       (a)  P  (b)  O   (c)  Q (d)  R 

100) If the price of six pens Rs. 342 find out total price of eleven pens 

        (a)   262  (b)  627    (c)  672  (d)  276 

 



 

ROUGH WORK 
 


